
1

II

1/1

'X' '0'

½

%



2

 ½

 C
3
H

6
½ 1

(a) ½

(b) ½ 1

(i)

(ii)

(iii)

(iv)

(v) ½×4 2

(i)

(ii)

(iii)

½×2 2



3

1



1



R R H H
    \    / | |

C = C   
2H
  R – C – C – R ½

    /    \ | |
R R R R

½

Ni/Pd /Pt

1



 1 3



½



½



1

 ½



4



½ 3

½

½

(a)  ½

 ½

(b)  ½

 ½ 3

(i) K 1

(ii) Be Ca 1

 KX KCl ½

 ½ 3

 DNA 

1

(i)

1

(ii) 1 3

2

½, ½ 3



5



(i)

(ii)

(iii) IUCD

(iv)

½×4



(i)

(ii)

(iii)

½×2 3



½×2



(i)

DNA

1

(ii)

1 3

(i)

½, ½

(ii) 

1



6



1 3

(i)

(ii)

(iii)

(iv)

1×2

1 3

1



7



1



1 3

(a)  ½

 ½

1



1 3

 C
4+

1

 C
4–

1



1



1



8



1 5

 (i)

½

(ii) ½



(i) ½

(ii) ½

 (i) ½

(ii) ½



1



1 5

 1

 ½, ½



½

½

½

½



9

X

'X' Y X Y

X Y

1 5

(a) 1×2

sin i sin r

½

 =   ½

(b)

½

½

1 5



½

1



10

 F 2F

½

1



½

½

1 5

1

1

(i)

1½



11

1½ 5

25 A

26 D

27 C

28 B

29 D

30 C

31 B

32 C

33 B 1×9 9

 ½

 ½

CH
3
COOH + NaHCO

3
   CH

3
COONa + H

2
O + CO

2
1 2



12

½

½, ½

½ 2

(a) ½

(b) ½

(c) 1 2


